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program aniroh
Implicit NONE

real*8 D,ew,10,delta,ef,eta,ron,theta,n_dark,e_tel,m,r

real*8 x,11,12,13,trans_a,trans_a2,trans_t,trans_d

real*8 1m,lp,dl,width,NN
real*8 B_s,B_a,B_t,oh
real*8 pi,h,c,k

real*8 temp_a,temp_t

real*8 n_tel,n_atm,n_obj,n_obj_oh,n_back,n_back_oh,n_oh

real*8 sn,t,a,b,e,transl0
real*8 f_obj,f_obj_oh

integer i,n,j

4http://www.naoj.org/Observing/Instruments/IRCS/camera/filters.html 0 Narrow-band filters O [Fell] O O O
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pi=2.0d0*asin(1.0d0)

D=1.0d0/2.0d0

ew=1.0d0

10=1.87509940

delta=50.0d0

ef=0.8d0

eta=0.7do0

ron=20.0d0

theta = 0.318d0*pi/180.0d40/60.0d40/60.0d0

n_dark=0.0140
e_tel=0.1d0
temp_a=243.0d0
temp_t=263.0d0
sn=5.0d0
t=60.0d0*60.0d0
m=4.0d0
NN=1.0d0

€=2.99792458d0%10.0d0**8.0d0
h=6.6260755d0%10.0d0** (-34.0d0)
k=1.380568d0%10.0d0** (-23.0d0)

n=50000
n_tel=0.0d0
n_atm=0.0d0
n_oh=0.0d0
width=10/delta
1m=10-width/2.0d40
1p=10+width/2.0d0
11=0.0d0

12=0.0d0

13=0.0d0

b=10.0d0

j=0

call ohcal(10)
call reflection(10,r)

open(unit=1,file=’a-t42.dat’,status=’unknown’)

do i=1,n

read(1l,*,end=900) x,13,trans_a2

17
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900

800

if((11 .le. 1m).and.(12 .gt. 1lm))then
11=1m-(12-1m)

end if

if((12 .1t. 1lp).and.(13 .ge. 1lp))then
13=1p+(13-1p)

end if

if((12 .1t. 1p) .and. ( 12 .gt. 1m)) then
j=3+1
d1=(13-11)/2.0d0
call blackbody(temp_t,12,B_t)
call blackbody(temp_a,12,B_a)
n_tel=n_tel+theta**2.0d0*pi*Dx*2*e_tel*B_t*d1x12/h/cxr**
& 5.0d0* (10.0d0**(-12.0d0))*ewxef*eta
n_atm=n_atm +thetax*2.0d0*pi*D**2.0d0*(1.0d0-trans_a)*B_a
& *d1x12/h/cxr*x5.0d0* (10.0d0**(-12.0d0) ) *ewxef*eta
a=abs(12-10)
if(a .le. b)then
b=a
e=12
translO=trans_a2
end if
end if
11=12
12=13

trans_a=trans_a2

end do
write(*,*) e,translO
close(1)

open(unit=2,file=’ohth3.dat’,status=’unknown’)
i=1
do i=1,n
read(2,*,end=800) j,x,oh
if((x .le. 1lp).and.(x .gt. 1lm))then
n_oh=n_oh +theta**2.0d0*pi*D**2.0d0*oh
& *x/h/cxr**5.0d0%10.0d0** (-6.0d0) xewxef*eta
end if
end do
close(2)

n_back_oh=n_tel+n_atm+n_oh
n_obj_oh=(sn**2.0d0*t+(sn**4.0d0*t**2.0d0+4.0d0*t**2.0d0*sn**

18
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& 2.0d0* (m*n_back_oh*t+m#*n_dark+m*NN*ron**2.0d0))**(0.5d0))/2.0d40/
& t**2.0d0

f_obj_oh=n_obj_oh/ew/ef/eta/D**2.0d0/pi/ (width*10.0d0**(-6.0d0))/r
& **5.0d0*h*10%*10.0d0**(-6.0d0) *10.0d0**(26.0d0)/transl0

n_back=n_tel+n_atm

n_obj=(sn**2.0d0*t+(sn**4.0d0*t**2.0d0+4.0d0*t**2. 0d0*sn**
&2.0d0* (m*n_back*t+m*n_dark+m*xNN*ron**2.0d0))**(0.5d0))/2.0d0/t
& *%*2.0d0

f_obj=n_obj/ew/ef/eta/D**2.0d0/pi/ (width*10.0d0**(-6.0d0))/r
& *%5.0d0*h*10%10.0d0**(-6.0d0) *10.0d0**(26.0d0)/transl0

write(*,*) ’n_oh=’,n_oh,’ n_atm=’,n_atm,
& ’ mn_tel=’,n_tel,’ n_back=’,n_back,’ n_obj=’,n_obj,

& ’ f_obj=’,f_obj,’ n_back_oh=’,n_back_oh,’ n_obj_oh=’
& ,n_obj_oh,

& ’ f_obj_oh=’,f_obj_oh,’ n_oh/n_atm=’,n_oh/n_atm

stop

end

subroutine blackbody(t,1,B)

implicit none

real*8 t,1,B

real*8 c,h,k

c=2.99792458d8

h=6.6260755d-34

k=1.380568d-23
B=2.0d0*h*c**2.0d0/ (1*1.0d-6) *x5.0d0/
& (exp(h*c/1/k/t/1.0d-6)-1.040)

return

end

subroutine reflection(l,r)

implicit none

real*8 r,1l,a,b,c,d,e

integer i,n
open(unit=20,file="reflection.dat’,status=’unknown’)
n=10000

¢=0.0d0

d=10.0d0
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do i=1,n
read(20,*,end=800) a,b
c=abs(a-1)
if(c .le. d)then
d=c
e=a
r=b
end if
end do
close(20)
r=(1%4.0d40/5.0d0+98.0d0) /100.0d0

return

end

subroutine ohcal(10)
Implicit NONE

real*8 x,y,z,zm,w,wm,x1,x2,x3,x4,x5,x6
real*8 10,width,a
real*8 h,c,k,pi

integer i,n,j,l1

n=100000

k=0

1=0

pi=2.0d0*asin(1.0d0)
c=2.99792458d0%10.0d0**8.0d0
h=6.6260755d0*10.0d0** (-34.0d0)
k=1.380568d0*10.0d0** (-23.0d0)
open(unit=1,file=’860u.dat’,status=’unknown’)

open(unit=4,file=’860un.dat’,status=’unknown’)

do i=1,n
read(1,*,end=10) x1,x2,x3,x4,x5
write(4,*) x2,x4,x5*%x4%10.0d0**(-8.0d0)*4.19904d0/pi**2.0d0

end do

close(1)
close(4)

open(unit=5,file=’ohth.dat’,status=’unknown’)

open(unit=7,file=’ohth2.dat’,status=’unknown’)
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do i=1,n
read(5,*,end=50) x1,x2
write(7,*) x1,x1/(1.0d40+2.735182d-4+131.4182/x1**2.0d0+2.76249
d8/x1%%*4.0d0) ,x2/x1
end do

close(5)
close(7)

open(unit=2,file=’860un.dat’,status=’unknown’)
do j=1,n
read(2,*,end=20) x1,x2,x3
if(x3 .ge. 5.0d0*10.0d0**(-8.0d0))then
1=1+1
call sumi(x1,x2,a)
z=z+x3/a
w=w+(x3/a)**2.0d0
end if

end do

close(2)
close(7)

zm=z/float (1)
wm=w/float (1)

write(*,*)’ mean=’,zm,’ sigma=’, (wm-zm**2.0d0)**0.5d0

open(unit=8,file=’ohth2.dat’,status=’unknown’)
open(unit=9,file=’ohth3.dat’,status=’unknown’)
do j=1,n

read(8,*,end=40) x1,x2,x3

write(9,*) j, x2%10.0d0**(-4.0d0), x3*zm

end do

close(8)
close(9)

return

end

subroutine sumi(a,b,c)

implicit none

real*8 x1,x2,a,b,c,d,x,y,z
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integer n,k
n=100000
¢=0.0d0

open(unit=3,file=’ohth2.dat’,status=’unknown’)

do k=1,n

read(3,*,end=30) x,y,z
if((y .gt. a-b/2.0d0) .and. (y .lt. a+b/2.0d0))then

c=c+z
end if
end do
close(3)
return

end



